COMMERCIAL MAINTENANCE BOND

Bond No. 100277329

				THESE		That	we,
Redlands Christian Mig	rant Associa	tion, a	as Princip	al, and Me	rchants Bonding Compa	ny (Mutual)	,
a corporation organ				•	virtue of the laws s in the State of Flo		
are held and firmly Obligee, in the s				-			đa, as
(\$_5,667.07/100_) Do heirs, executors and	-		•	•	-	d ourselve	s, our
WHEREAS, incorporated into a		•	-	•	nereinafter "LDC") ereinafter "Bond");	•	rence
WHEREAS, Cost Estimate, atta		=		_	ments described in ed into and made p	_	

Cost Estimate, attached hereto as Exhibit "A" and incorporated into and made part of this Bond (hereinafter "Improvements"), in accordance with the drawings, plans, specifications, and other data and information (hereinafter "Plans") for the RCMA Daycare Expansion as filed with Polk County's Land Development Division, which Plans are by reference incorporated into and made part of this Bond; and

WHEREAS, the Principal wishes to dedicate the Improvements to the public; and

WHEREAS, the LDC requires as a condition of acceptance of the Improvements that the Principal provide to the Obligee a bond warranting the Improvements for a definite period of time following the Obligee's final acceptance of said Improvements; and

WHEREAS, this Bond shall commence upon the date of the Obligee's acceptance of the Improvements (the "Bond Commencement Date").

NOW, THEREFORE, the conditions of this Bond are such that:

- 1. If the Principal shall warrant and indemnify for a period of <u>one</u> (1) year(s) following the Bond Commencement Date (the "Warranty Period") against all loss that Obligee may sustain resulting from defects in construction, design, workmanship and materials (the "Defect"); and
- If the Principal shall correct all Defects to the Improvements that are discovered during the Warranty Period;

Then upon approval by the Obligee this Bond shall be void, otherwise to remain in full force and effect.

(1)		
Initials		Page 1of 3

- 3. The Obligee, its authorized agent or officer, shall notify the Principal and Surety in writing of any Defect and shall specify in the notice a reasonable period of time for the Principal to correct the Defect. The Surety unconditionally covenants and agrees that if the Principal fails to correct the Defect within the time specified, the Surety shall forthwith correct the Defect and pay the cost thereof, including without limitation, engineering, legal, and contingent costs.
- 4. Should the Surety fail or refuse to perform any of its obligations pursuant to this Bond, the Obligee shall have the right to resort to any and all legal remedies against the Principal and Surety, or either, both at law and in equity including specific performance, to which the Principal and Surety unconditionally agree. In such case, the Obligors agree to pay all costs incurred by the Obligee, including attorney's fees and costs, and venue shall be in the courts of Polk County, Florida or in the United States District Court, Middle District of Florida, located in Hillsborough County, Florida.
- 5. All notices, demands, and correspondence with respect to this Bond shall be in writing and deemed effective on the date of certified mailing addressed to the following, notwithstanding any changes to the addresses listed below:

The Surety at:

Merchants Bonding Company (Mutual) 6700 Westown Parkway West Des Moines, IA 50233 info@merchantsbonding.com

The Principal at:

Redlands Christian Migrant Association 402 W Main Street Immokalee, FL 34142

The Obligee at:

Polk County, Land Development Division 330 West Church Street PO Box 9005 – Drawer GM03 Bartow, FL 33831-9005

This Bond commences on the Bond Commencement Date and shall remain in full force and effect until the correction of all Defects for which timely notice has been provided to the Principal and Surety, even if the time required to correct such Defect exceeds the Warranty Period. This Bond shall be released by the Obligee if all the Conditions of this Bond remain satisfied at the end of the Warranty Period.



IN WITNESS WHEREOF, the Principal a their duly authorized officers this13th_	and Surety have caused this Bond to be executed by day of November, 2023.
Witness Witness Victoria Contreras Printed Name Catalus Spulled Witness	PRINCIPAL: Redlands Christian Migrant Association Name of Corporation By: Association Eizabeth Maldonado Printed Name
Catalina Sepulveda Printed Name	Title: Notary Public (SEAL) ELIZABETH MALDONADO Notary Public - State of Florida Commission # HH 326917 My Comm. Expires Nov 6, 2026 Bonded through National Notary Assn.
,	SURETY:
Karen Bailey	Merchants Bonding Company (Mutual)
Witness	Name of Corporation
Karen Balley Printed Name	By: Osciona Karten
My Kickords Witness Amber Richards Printed Name	Oriana Kasten Printed Name Title: Attorney-in-fact (SEAL)
	(Attach power of attorney)



	RCMA DAYCARE EXPANSION (COUNTY #LDNON-2019-3)						
PROPOSED COST ESTIMATE							
ITEM NO	WATERMAIN DESCRIPTION	Qty.	Unit	UNIT COST	TOTAL COS		
1	6" PVC, AWWA C-900, DR 18, Blue	15	LF	15.59	\$233.85		
2	6" Gate Valve Assembly, Complete	1	EA	838.60	\$838.60		
3	6" 45 Degree Bend, DI, C153, Cement-Lined, Bituminous Coated	3	EA	121.69	\$365.07		
4	12" PVC, AWWA C-900, DR 18, Blue	630	LF	52.15	\$32,854.50		
5	12" DIP, Pressure Class 350, Cement-Lined, Bituminous Coated	20	LF	49.50	\$990.00		
6	12" Gate Valve Assembly, Complete	5	EA	2,785.88	\$13,929.40		
7	12" 45 Degree Bend, DI, C153, Cement-Lined, Bituminous Coated	8	EA	291.45	\$2,331.60		
8	12" Tee, DI, C153 Cement-Lined, Bituminous Coated	1	EA	490.31	\$490.31		
9	12" Sleeves	2	EA	318.69	\$637.38		
10	Air Release Valve	1	EA	4,000.00	\$4,000.00		
	TOTAL				\$56,670.7		
	10% SURETY				\$5,667.0		



This item has been digitially signed and sealed by David C. Carter, P.E. on the date adjacent to the seal. Printed copies of this document are not considered signed and sealed and the signiture must be verified on any electronic copies. 2023.03.30 08:21:23 -04'00'

330 West Church Street PO Box 9005 • Drawer GM03 Bartow, Florida 33831-9005



PHONE: 863-534-6792 FAX: 863-534-6407 www.polk-county.net

LAND DEVELOPMENT DIVISION

MEMORANDUM

To: Chrissy Irons, Development Coordinator

From: Marty Warning, Inspector

Project Name: RCMA Daycare Expansion

Project #: LDNON-2019-3

DATE: 11/16/2023

The Inspector of Record has made a final review of the above-mentioned project. As a result of inspections, test results, and general site observations, I certify that the project is complete and represents reasonable compliance with the intent of the plans designed by the Engineer of Record and approved by the Polk County Land Development Division. The exact field locations and elevations of the storm water, potable water, wastewater, and reclaimed water systems are not guaranteed nor certified by the inspector.

It is the Contractor and Engineer of Record's responsibility to furnish the Polk County Land Development Division with Record Drawings and other final closeout documentation, as required by the Land Development Code and the Utility Standards and Specifications Manual, for final review and approval of the completed project before release of C.O.'s.

Should you have any further questions in the matter, please call (863) 534-6449.